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1.3

1.3.1
36 7 7 107 1,473
47 7 26,358
52 8 4 28,553
56 7 1 450
60 7 11,020
63 5 5,691
60 ,63
1.3.2
7 107
37ha 36 38
550m
52 56
870m 62
1.3.3
870m

35m*/s




1.4

1.4.1
2.0ha 0.011m®
/s 0.5ha 0.003m%/s
1.0ha 0.005m%/s
1.4.2
10 10
0.11m%/s 0.23m%/s
8.16km?
0.418 0.282 0.181 0.081 3.342 0.072 0.380 138.640
0.461 0.326 0.237 0.106 4.447 0.094 0.452 164.930
0.469 0.315 0.224 0.115 2.593 0.108 0.425 155.100
0.443 0.302 0.217 0.106 2.482 0.097 0.406 148.740
0.431 0.329 0.253 0.141 2.749 0.056 0.399 145.720
0.420 0.304 0.222 0.135 1.306 0.098 0.358 130.650
0.469 0.313 0.242 0.108 3.420 0.108 0.425 154.963
0.313 0.224 0.153 0.086 1.654 0.063 0.270 98.910
0.492 0.268 0.175 0.090 4.918 0.041 0.423 154.365
10 0.648 0.447 0.354 0.175 4._.829 0.112 0.608 221.828
0.456 0.311 0.226 0.114 3.174 0.085 0.415 151.385
( ) 5.59 3.81 2.77 1.40 38.90 1.04 5.08
1/10 0.418 0.268 0.175 0.086 1.654 0.056 0.358 130.650
( ) 5.12 3.28 2.14 1.05 20.27 0.69 4.39
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